

Ada County Highway District

Procurement

Jesse Goodpasture, Procurement and Contracting Administrator 3775 Adams St., Garden City, ID 83714

EVALUATION TABULATION

PWB No. MD-2774

2022 Concrete Repairs - Jackson Manor Subdivision

RESPONSE DEADLINE: June 29, 2022 at 3:00 pm Report Generated: Friday, July 1, 2022

SELECTED VENDOR TOTALS

Vendor	Total
TRQ Concrete & Asphalt, LLC	\$198,056.00
ESTIMATE	\$201,810.00
Knife River Corporation - Mountain West	\$218,607.00
JCG Excavation LLC	\$226,490.00

SCHEDULE 1, FY22 CONCRETE REPAIRS, JACKSON MANOR, MD2774

			ESTIMATE		JCG Excavation LLC		Knife River Corporation - Mountain West		TRQ Concrete & Asphalt, LLC			
Selected	Line Item	Description	Quantity	Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total
X	0202.4.5.A.1	UNSUITABLE MATERIAL EXCAVATION	50	CY	\$50.00	\$2,500.00	\$45.00	\$2,250.00	\$20.00	\$1,000.00	\$270.00	\$13,500.00

			Description														ESTI	MATE	JCG Exca	vation LLC		Corporation - ain West	TRQ Concrete	& Asphalt, LLC
Selected	Line Item	Quantity		Unit of Measure	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total	Unit Cost	Total												
Х	0706.4.1.A.1	STANDARD 3- INCH ROLLED CURB & GUTTER	500	LF	\$45.00	\$22,500.00	\$43.50	\$21,750.00	\$34.50	\$17,250.00	\$88.00	\$44,000.00												
Х	0706.4.1.E.1	CONCRETE SIDEWALKS, 5" THICK	1300	SY	\$70.00	\$91,000.00	\$81.50	\$105,950.00	\$69.00	\$89,700.00	\$52.00	\$67,600.00												
Х	0706.4.1.B.3	CONCRETE VALLEY GUTTER	120	SF	\$15.00	\$1,800.00	\$26.00	\$3,120.00	\$20.00	\$2,400.00	\$59.00	\$7,080.00												
Х	0706.4.1.H.1	PEDESTRIAN RAMP TYPE 712-C4	2	EA	\$2,000.00	\$4,000.00	\$2,565.00	\$5,130.00	\$1,100.00	\$2,200.00	\$9,000.00	\$18,000.00												
Х	1103.4.1.B.1	TRAFFIC CONTOL SIGNS	384	SF	\$15.00	\$5,760.00	\$15.00	\$5,760.00	\$13.50	\$5,184.00	\$6.50	\$2,496.00												
Х	1103.4.1.C.1	TRAFFIC CONTROL BARRICADES, TYPE II	30	EA	\$50.00	\$1,500.00	\$32.00	\$960.00	\$30.00	\$900.00	\$41.00	\$1,230.00												
Х	1103.4.1.H.1	PORTABLE TUBULAR MARKERS	100	EA	\$15.00	\$1,500.00	\$15.00	\$1,500.00	\$14.00	\$1,400.00	\$12.50	\$1,250.00												
Х	1103.4.1.1.1	TRAFFIC CONTROL FLAGGERS	120	MH	\$40.00	\$4,800.00	\$51.00	\$6,120.00	\$46.00	\$5,520.00	\$25.00	\$3,000.00												
Х	1103.4.1.J.1	TRAFFIC CONTROL MAINTENANCE	50	MH	\$45.00	\$2,250.00	\$53.00	\$2,650.00	\$50.00	\$2,500.00	\$18.00	\$900.00												

EVALUATION TABULATION

Invitation To Bid - 2022 Concrete Repairs - Jackson Manor Subdivision

			Description				ESTI	MATE	JCG Exca	vation LLC		Corporation - ain West	TRQ Concrete	& Asphalt, LLC
Selected	Line Item	Quantity		Unit of Measure	Unit Cost	Total								
Х	2010.4.1.A.1	MOBILIZATION (Lump Sum)	1	LS	\$18,000.00	\$18,000.00	\$14,500.00	\$14,500.00	\$44,218.00	\$44,218.00	\$14,000.00	\$14,000.00		
Х	SP 06034	CURB INLET MODIFICATION	5	EA	\$1,200.00	\$6,000.00	\$2,100.00	\$10,500.00	\$1,300.00	\$6,500.00	\$1,850.00	\$9,250.00		
Х	SP 11551	PEDESTRIAN TEMPORARY TRAFFIC CONTROL PLAN	5000	CA	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00		
Х	SSP 08125	ASPHALT REPAIR - OTHER	120	SY	\$75.00	\$9,000.00	\$55.00	\$6,600.00	\$38.00	\$4,560.00	\$30.00	\$3,600.00		
Х	SSP 25050	4" TOPSOIL	200	SY	\$20.00	\$4,000.00	\$30.00	\$6,000.00	\$8.00	\$1,600.00	\$3.00	\$600.00		
Х	SSP 25080	REMOVE & RESET MAILBOX	2	EA	\$150.00	\$300.00	\$250.00	\$500.00	\$150.00	\$300.00	\$100.00	\$200.00		
Х	SSP 29065	SOD REPAIR	200	SY	\$20.00	\$4,000.00	\$30.00	\$6,000.00	\$30.00	\$6,000.00	\$4.00	\$800.00		
Х	SSP 29090	TRIM TREE	2	EA	\$200.00	\$400.00	\$600.00	\$1,200.00	\$2,000.00	\$4,000.00	\$150.00	\$300.00		
Х	SSP 29101	REMOVE & RESET SPRINKLER SYSTEM	1750	LF	\$10.00	\$17,500.00	\$12.00	\$21,000.00	\$10.50	\$18,375.00	\$3.00	\$5,250.00		
Total	·	· ·				\$201,810.00		\$226,490.00		\$218,607.00		\$198,056.00		

VENDOR QUESTIONNAIRE PASS/FAIL

EVALUATION TABULATION Invitation To Bid - 2022 Concrete Repairs - Jackson Manor Subdivision Page 3

Question Title	ESTIMATE	JCG Excavation LLC	Knife River Corporation - Mountain West	TRQ Concrete & Asphalt, LLC
Bidder's Information	No Response	Pass		Pass
Address, City, State and Zip	No Response	Pass		Pass
Contractor Public Works License Number	No Response	Pass		Pass
State of Domicile	No Response	Pass		Pass
Bidder's person to contact for additional information regarding this proposal	No Response	Pass		Pass
Bidder's Phone Number	No Response	Pass		Pass
Bidder's Fax Number	No Response	Pass		No Response
Email	No Response	Pass		Pass
COMPLIANCE CERTIFICATION	No Response	Pass		Pass
Bid Security	No Response	No Response	No Response	No Response
Bid Security	No Response	Pass	Pass	Pass
Electronic Bid Bond	No Response	Pass	Pass	Pass
Bid Security	No Response	Pass	Pass	Pass
Proposal Information	No Response	No Response	No Response	No Response
Proposal Statement Confirmation	No Response	Pass		Pass
Required Sub-Contractor Information - Type of Work, Name, Address, and License Number	No Response			

EVALUATION TABULATION Invitation To Bid - 2022 Concrete Repairs - Jackson Manor Subdivision Page 4

Question Title	ESTIMATE	JCG Excavation LLC	Knife River Corporation - Mountain West	TRQ Concrete & Asphalt, LLC
Authorize Representative Signature	No Response	Pass		Pass